N = 0l & At & Ml A

2M: W=
X—IiH: s

I GRA(A) - HRAMY - BES 0l &k o4 p/E-T Hl DS 2
13,878,738 13,640,831 237,907
2 352,000 1,150,000 798,000
o] 1,515,839 364,664 1,151,175
= 402,715 432,715 £30,000
Al 11,608, 184 11,693,452 785,268
22/ ) 13,240,479 12,978,048 262,431
s 352,000 1,150,000 A798,000
p] 1,515,839 364,664 1,151,175
< 402,715 432,715 230,000
Al 10,969,925 11,030,669 £60,744
+ 9,599, 168 8,280,911 1,318,257
2 352,000 1,150,000 798,000
gl 1,114,000 114,000 1,000,000
Al 8,133,168 7,016,911 1,116,257
TZHUSNE 29 1,530,606 1,516,949 13,657
201 2Lur2 A H| 4,396 8,650 ~4,254
01 At 22l 2,240 3,000 A 760
OMBATZME(S7E) 228 Y (0ME
2) AT 2,240,0002 2,240 3,000 AT60
02 232 2,156 5,650 ~3,494
OMBATXME(S72E) 29 2,156 5,650 A3,494
— IS (BHEY M)
23 1,140,000% 1,140 3,000 A1,860
— NBAE 23 (RHTY AY)
AH 60,0008 60 150 A90
— NEZH RXH(FHTY A1)
A 570,0008 570 1,500 £930
—AB ALB(BBTU M)
2% 386,0008 386 1,000 ~614
401 AIEHIL 201 HI 1,493,309 1,468,299 25,010
01 Al 1,493,309 1,468,299 25,010
OZZMSANE U 280 0 309 10,299 £9,990
— oA HOIESH(SAY STHal 164-16) (T
SR AY) A 203,008 203 6,774 £6,571
~22F 2EH(HHES 1920-1)(WH Y 4
2) 2 105,6302 106 3,525 A3,419
O Fel S422 HOIESH HIJIRAIE FHI(
SEXZNLI) 35,000,008 * 1744 35,000 0 35,000
405 TH&HF St 32,901 40,000 A7,099
01 AU 2B St 32,901 40,000 A7,009
OMEBAZZME(S2E) ZIIHES 7Y 32,901 40,000 A7,099
— SR RY(AEY) FF 17,220,0002 17,220 21,000 £3,780
—2E OB FY(HNMEY)
HH 15,681,002 15,681 9,000 £3,319
YEA AUSEE 29 1,303,748 1,624, 148 320,400




SN HSUED
a: Mg ITe RE(2SHUBY/HS)
Sl MSAL =35 CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
101 Q1248 611,358 701,358 90,000
YPIENEEVEEES 611,358 701,358 290,000
OHU+YT 29 AR (FHTA A) 564,558 654,558 £.90,000
—J123 A 453,708,0008 453,708 525,708 A72,000
— x4y % 88.680,0008 83,680 103,080 A 14,400
— ARSI ENLY AH 22,170,0009 22,170 25,770 A3,600
201 YBt2 | 496,900 611,400 A 114,500
01 AbR 22t 67,780 83,280 220,500
OMU+YY 83 TY(HMEY)
A3 8,000,000% 8,000 15,000 A7,000
OHUAET 225 2 (H&4EY)
A 26,000,0009 26,000 36,000 £10,000
OUBIE 53 +22(HABY)
A 3,700,0009 3,700 7,200 A3,500
02 232l 429,120 523, 120 94,000
02322 2 MA(BHTH &%) 316,000 406,000 £.90,000
-~ WIS (BHTW ML)
A3 100,000,0008 100,000 120,000 20,000
— M4BT RS (RHTY AY)
A 90,000,0002! 90,000 120,000 30,000
—HARS(BBIY ML)
A 125,000,0008 125,000 165,000 40,000
OMU+EH HSAL HAMASE Jtel(He
oy ALz A 11,000,0002 1,000 15,000 A4,000
301 YBFHD 58,890 97,890 39,000
2 JIEtE 43 58,890 97,890 39,000
OMW4+EY D208 29 AR (DY
A2 58,890 97,890 39,000
- Q0 2ME A 13,620,008 13,620 22,590 £8,970
— et A SAR AH 13,620,0009 13,620 22,590 8,970
— ALY 2AE AT 13,620,008 13,620 22,590 £8,970
—otR0IRY SAE A 18,030,0009! 18,030 30,120 ~12,090
401 NEHIL 2 THYI 114,000 190,000 76,000
01 Al&t bl 114,000 190,000 76,000
OUU+ET 222 S (ZHUTY A1)
A 74,000,000 74,000 150,000 A76,000
405 THaHF St 8,100 9,000 £900
01 TR 2B St 8,100 9,000 2900
OMW+ET 240 Y (HLE)
AT 3,300,0009 3,300 4,000 AT00
OUSHUSE 25 3 23 2L (MLEY)
AT 4,800,0002 4,800 5,000 A200
EENEEE T 146,396 163,396 A17,000




2N
X ZH -
L= B

el

H=dsh
Hegooet IF(2L22/HK)
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SA-ZH () - HRAY - BES Off &4 JEH Hnsz
201 LBt A Y| 125,020 142,020 A17,000
01 AlR 2| 11,200 19,200 A8,000

OUBI=SASUE ADE D (HA4E)
2 7,500,0008 7,500 12,000 A 4,500
ONBIIE 53 ++B (KM
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OUB=AZHE =4 RS NS (HAEZ)
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S HSXED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &t o 0% o Hl D&
307 glz2tol & 5,400 6,000 A 600
04 DI2HHALALSE E X 5,400 6,000 A 600
QuUEHMSX A A= EIF X (0 &)
2 & 5,400,000& 5,400 6,000 A 600
SSEUHEIHEHI XS 54,000 60,000 A 6,000
307 21201 A 54,000 60,000 A 6,000
04 DIZHHALALSE E X 54,000 60,000 A 6,000
OssY MsSUa =IF ol A (ol arE )
& & 54,000,000& 54,000 60,000 A 6,000
NESS2ELUHI X 0 17,500 A 17,500
307 21201 A 0 17,500 A 17,500
04 QIZFHALAIH B = 0 17,500 A 17,500
OAl NEZ HUial MHE X2 (SEH AZ)
23 0¥ 0 6,000 A 6,000
O MNEE HdYLlHa &It XN (2SN o)
23 0¥ 0 9,000 29,000
OX= NEY dZUs &I NA(28Y A2
) 23 0¥ 0 2,500 A 2,500
LN SOHE HEXA 91,600 125,000 233,400
201 Let24E] 1,600 2,000 A 400
01 At 22l 1,600 2,000 A 400
O&=203 | =2 MA(HLEZ)
Z & 800,000& 800 1,000 A 200
O&=203 |1 22 HMAE(HLEZ)
Z & 800,000& 800 1,000 A 200
307 glz2+ol & 90,000 123,000 A 33,000
04 QIZFHALAIH E = 90,000 123,000 A 33,000
OX= & 9 MsUts |IA(Ex8 FAH)(
Ol A& 2F) Z & 90,000,000 90,000 100,000 A 10,000
OHM101a #2HME =Y HzZH(28H 4
&) Z2E & 0 15,000 A 15,000
OHM40s dIFZMAME S22 K2 LU (ES
o AH2EH) Z2E & 0 8,000 A 8,000
NHEANZHEALSLENSHE XA 0 20,000 A20,000
307 glz2tol & 0 20,000 A20,000
04 QIZFHALAIH E = 0 20,000 220,000
ONMZAI=E e =sta ot 24l A
A(SEH A 28 04 0 20,000 A20,000
HEHSUHASEXH 45,000 150,000 A 105,000
307 gl2tol & 45,000 150,000 A 105,000
04 DIZHHALALSE E X 45,000 150,000 A 105,000




M MsSAEL
HM: YD PE(2YLZZ/ANS)
@4 Ms8d x4 (cho &)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Husz
02020 F=Al -2l (gEad) 53203 JHAl
(EX8 HM)(MAZEZ) FA 45,000,000 45,000 50,000 25,000
OHM30z = MENSUS HFINEEXTE F
W (E2Y A2 33 02 0 100,000 A 100,000
AQIAAHII S X 18,000 20,000 22,000
307 eI2+0l & 18,000 20,000 22,000
04 QIRFSH ALALS B X 18,000 20,000 22,000
OAIRl ALZIIE HE XIS (0AE2)
23X 18,000,000 18,000 20,000 A2,000
A== HEXA 9,000 12,000 A3,000
307 eI2+0l & 9,000 12,000 A 3,000
04 QI ALALS B X 9,000 12,000 23,000
Od=Ee2 NEuA 32U Nz (oarE )
23 9,000,000 9,000 10,000 A 1,000
OZ=2e0 =268 =203 &It BH N (BX
2 ) (E=SY AY) a8 0& 0 2,000 A 2,000
A=ZI|QMHHMSUHE XA 0 97,300 297,300
307 eI2t0l & 0 97,300 A 97,300
04 QIZHHALALH B X 0 97,300 297,300
OHMI138 AFZ2J|at MEHsssxE
ERYE(22Y A 2) 3F o2 0 24,000 A 24,000
OM1338 FZ=ZJ|QIaH ZE2E=50 HOIEE
Hal(2soy a2 3 0% 0 30,000 230,000
ONIBEl I ZIIQAA 2S5 NEW
S(ERY AY) 3 0% 0 19,000 219,000
ONI433] FZ=ZJ|QIAH ¥2=50 L 0l
HILIAE (229 AY) 3 0% 0 24,300 A 24,300
MEHYKIE NS X2 9,000 70,000 261,000
307 @I2+0l & 9,000 70,000 A61,000
04 DIZHSH ALALS B X 9,000 70,000 261,000
02020 FF=AQIXEHEDIE HEI (O AHEZ)
Z3 9,000,000 9,000 10,000 21,000
OHMBE St JHES (S 42
3F ok 0 60,000 260,000
20 HSTUEZSOIALEE M2 A0120 3 0 70,000 A70,000
307 eI2+0l & 0 70,000 A70,000
04 QIZHSH ALA B X 0 70,000 A70,000
OHM223 22U MSENESSHOIALEEH & = ALOI 2 TH
3 L2000 AEHEZLFTEHIMHE (E2H A
3F o 0 70,000 A70,000
MI2ZC3 XA 0 20,000 A 20,000
307 eI2t0l & 0 20,000 A 20,000
04 QIZHH ALALH B X 0 20,000 220,000
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@4 Ms8d x4 (cho &)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
OHM3al Hdul2stEMIIE Z=EL0H2cUal (=2
S0 A 238 0& 0 20,000 A 20,000
Z=2cld0k*Hal XI& 4,500 5,000 A 500
307 gl2tol & 4,500 5,000 A 500
04 DIZHHALALSE E X 4,500 5,000 A 500
OZ=eAXNGued IFAwmaside ] oF2H
SI(olarE2) 23 4,500,000 4,500 5,000 A 500
HdIERAHE XA 0 10,000 210,000
307 21201 A 0 10,000 210,000
04 QIZFHALAIR B & 0 10,000 210,000
OM73 &St M22E 2 NESEFUI(ES
o Ar2)H) 28 0& 0 10,000 210,000
dIFAUS XA 0 50,000 250,000
307 21201 A 0 50,000 A 50,000
04 QIZFHALAIH B = 0 50,000 250,000
OM178 EZ=AEIIED| MIEFUS M X
P(EX8 A )(EESH 42 Z2E 0¥ 0 50,000 A 50,000
H=SHHERIE TS| K| & 3,000 20,000 A 17,000
307 glz2+ol & 3,000 20,000 A 17,000
04 QIZFHALAIH E = 3,000 20,000 A 17,000
ORM253 ZASTIAI MENS HESE T
Sl (Y e xrol Ar2h) 23 3,000,000& 3,000 20,000 A 17,000
SAFAvsl e ZI|IHe XA 30,000 50,000 A 20,000
307 glz2tol & 30,000 50,000 A 20,000
04 QIZFHALAIH 2 = 30,000 50,000 A 20,000
02020 S AMS 2 AT JHAE X2 (0 &A=
=) Z & 30,000,000& 30,000 50,000 220,000
Orl==01d & My 22 125,198 176,029 A 50,831
201 £B-2dH| 9,418 20,000 210,582
02 =224l 9,418 20,000 210,582
O2F O S=01% 2 (T Ar2) 9,418 20,000 A 10,582
—&JIe3 23 4,450,000 4,450 5,000 A 550
—&otx=ER3 23 4,968,000 4,968 15,000 A 10,032
307 glz2tol & 115,780 156,029 A40,249
02 IZtE M AHEE 115,780 156,029 A40,249
O2% OIYAE=0/Z 2L (THETH A
Z & 99,750, 100& 99,751 140,000 A40,249
(Z)GFAWAOIHEUHSI N KA 97,960 110,000 A 12,040
307 glz2tol & 97,960 110,000 A 12,040
04 DIZHHALALSE E X 97,960 110,000 A 12,040
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307 21201 A 0 60,000 A 60,000
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=) 10,000 0 10,000
(2)2OIH100 MBQAZHE 2 151,175 0 151,175
| 151,175 0 151,175
307 glz2tol & 151,175 0 151,175
| 151,175 0 151,175
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| 151,175 0 151,175
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UM SHEH 22l 90,761 103,882 A 13,121
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101 @124l 3,247 9,622 A6,375
04 JI2ZtHZ22EE = 3,247 9,622 26,375
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2H: HEIED
H: HHE2IAH(MSIED)(IIEHIIE)
¢l =gl (chel & 9l)
2A-F3H-H2A(3) - MY - BES Off &4 I & Hns2Z
202 Od4dl 69,282 78,660 A9,378
01 = LHA YI 69,282 78,660 N9Q,378
OZLHoidl(ofl &t E 2H) 28 47,736,000& 47,736 54,720 26,984
oot (ola&E2) 2 & 21,546,000& 21,546 23,940 A2,39%4
203 R =&l 3,240 3,600 A 360
04 ENSSHRF=EHI 3,240 3,600 A 360
ORMSIIFIHI(0AEZ)
23 3,240,000 3,240 3,600 A 360
HRegs(HsdE) (2L 2/HK) 13,293 0 13,293
SHEXNE 13,293 0 13,293
B&EXNE 13,293 0 13,293
802 Btet= DI Et 13,293 0 13,293
01 3NE2x3eeEa 3,378 0 3,378
020184 3,378 0 3,378
—ANZHEBHSAI X
2,234,000& = 14 2,234 0 2,234
—NZHEHMKXEX i XI(0IX})
17,4203 » 14 18 0 18
—ANZUHE2Y MEHSXZX B
1,117,000& * 14 1,117 0 1,117
—ANZHEH MEHSX =X BIXI(0IXH)
8,710& « 14 9 0 9
02 Al - SHIBXZEtE = 9,915 0 9,915
02019 9,915 0 9,915
—AgE (s, 24, 25) 4 X
9,914,020& * 14 9,915 0 9,915




